Name: _________________________________ Date: ____________________ Period: ______


Ecology Stations
Station 1: Vocabulary Puzzle
Arrange the tiles so they form a 3x3 grid and the vocabulary terms match their definitions.

Teacher Initials: _________

Hint used:
YES

NO

Station 2: Food Webs
1. ____________________

2. ____________________

3. ____________________

4. ____________________

5. ____________________

6. ____________________

7. ____________________

8. ____________________

9. ____________________

Station 3: Symbiotic Relationships

Cuckoos: _____________________
Clownfish: ____________________

Army ants: ____________________

Remora sharks: ________________

Mosquitoes: ___________________

Cow bacteria: __________________
Station 4: Succession Timeline

Place the dominoes end to end so that they describe ecological succession.
1 ___ ___ ___ ___ ___ ___ 8

Station 5: Population Ecology

1. _____________________

2. _____________________

3. _____________________

4. _____________________

5. _____________________

6. _____________________

7. _____________________

8. _____________________

9. _____________________
Station 6: Nutrient Cycles

1. ___________________
2. ___________________
3. ___________________
4. ___________________
5. ___________________
6. ___________________
7. ___________________
8. ___________________
9. ___________________
10. ___________________
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T he  study of living things  & their interactions  
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COMMUNITY  
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ECOSYSTEM  



	COMMENSALISM
	Converts nitrogen into a useable form
	NITROGEN FIXATION
	DECOMPOSER
	Breaks down dead organic matter
	Uses sunlight to create food

	ECOLOGY
	PHOTIC ZONE
	All of the biotic and abiotic factors in an area
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Water layer where  photosynt h esis  occurs  
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Dead organic matter  
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BIOMES  



	FOOD WEB
	An organisms habitat, role, and behaviors
	NICHE
	BIOTIC FACTORS
	Living components of an ecosystem
	CONSUMER

	Ecosystems with similar climate
	All of the living things in an area
	DETRITUS
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O ccurs  after a  disturbance  
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LIMITING FACTOR  
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B oth  organisms benefit  



	Where an organism lives
	Nonliving components of an ecosystem
	ABIOTIC FACTORS
	SYMBIOTIC RELATIONSHIP
	One organism lives in or on another
	PARASITISM

	One organism eats another
	Bottom layer of a body of water
	PHYTOPLANKTON


	START


	A disturbance causes the soil to be destroyed.    

1
	Small woody plants grow among the grasses.


	Brush and shrubs begin to grow.

2
	Young deciduous trees grow near the forest floor.


	Deciduous trees begin to replace evergreens.

3

	A deciduous forest forms.
	A climax community is reached.

4
	Primary succession begins.  
	Pioneer species such as lichens begin to break down rock.

5
	A few young trees mix in with brush.


	After many years, an evergreen forest forms.

6

	Over many years, soil forms.


	Grasses and small plants grow.

7
	The ecosystem remains stable until another disturbance.        
	END

8   
	
	9
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	Atmospheric nitrogen
	Animal wastes & dead animals
	Soil bacteria

	Dead plants
	Decomposers
	Plants

	Nitrogen-fixing bacteria
	Animals
	Nitrogen compounds


Answers: 1, 5, 7, 2, 6, 3, 4, 8

A disturbance causes the soil to be destroyed.

Primary succession begins.

Pioneer species such as lichens begin to break down rock.

Over many years, soil forms.

Grasses and small plants grow.

Small woody plants grow among the grasses.

Brush and shrubs begin to grow.

A few young trees mix in with brush.

After many years, an evergreen forest forms.

Young deciduous trees grow near the forest floor.

Deciduous trees begin to replace evergreens.

A deciduous forest forms.

A climax community is reached.

The ecosystem remains stable until another disturbance.

Station 2: Food Webs
Examine the food web below and use it to answer the questions that follow.
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1. Name one producer in this food web.

2. Name one secondary consumer in this food web.

3. If grasshoppers were removed from this ecosystem, what organism(s) would starve?

4. Which trophic level does the rabbit occupy?

5. How many organisms consume the flowering shrub?

6. Which will have greater biomass: mice or wolves?

7. There are fewer tertiary consumers because less ____________ is available at each trophic level.

8. Complete this food chain: flowering shrub, _________, __________, hawk.

9. What is missing from this food web? (Hint: everything else is eventually consumed by them.)

	Station 3: Symbiotic Relationships
Read each scenario and determine if it is an example of:

· Parasitism

· Mutualism

· Commensalism


	Cows have bacteria in their stomachs that help them to digest their food.  The bacteria gain a stable food supply every time the cow eats.

	Cuckoo birds do not build nests; instead, they lay their eggs in the nests of other birds.  The cuckoo benefits because it does not have to expend any energy to raise its young.  The other birds have to spend extra energy to raise the cuckoo chicks.  Sometimes, the cuckoo chicks even throw the real offspring out of the nest.
	Clownfish live among the tentacles of the sea anemone.  The clownfish attracts prey to the sea anemone, which stings the prey with poisoned tentacles to kill it.  Afterwards, the clownfish eats the remains of the prey.

	Birds often follow groups of army ants.  As the army ant colony travels on the forest floor, they stir up various flying insect species. As the insects flee from the army ants, the birds following the ants catch the fleeing insects. The army ants are unaffected.
	Female mosquitoes require blood in order to lay their eggs.  She bites an animal and sucks its blood in order to nourish her offspring.  The animal that is bitten develops an itchy bump at the site of the bite.

	Remora sharks are endowed with an adhesive disk on the dorsal surface of their heads.  They use this adhesive disk to “hitch a ride” on larger animals, usually whales, which tend to be sloppy eaters.  When food floats away from the whale’s mouth, the remora can unhitch itself and collect the scraps of food floating by.  The whales are not bothered by their passenger.
	Station 1:

Vocabulary

puzzle


  (cut apart into cards)

Station 5: Population Ecology

Use the diagrams to answer the questions that follow.
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1. On what day does the population of P. aurelia reach carrying capacity?

2. During days 0-8, what happened to the population of P. caudatum grown by itself.

3. When both species were placed together, which species had a higher population on day 2?

4. On which day were both populations equal?

5. In this example, P. aurelia’s population increased, while the population of P. caudatum declined.  What vocabulary term describes this occurrence?
Station 5: Population Ecology
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6. In which year was the population density of pheasants highest?
7. What was the population density of the pheasants in 1982?

8. At some point, a housing development was built that destroyed a portion of the pheasant’s habitat.  In what year do you think the development was built?

9. An environmental group, concerned about the effect of the development on the pheasants, began a program to improve conditions for the pheasants.  In what year do you think the program began?

Station 6: Nutrient Cycles
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Use the diagrams to answer the questions.
1. How do consumers get their nitrogen?

2. What organism converts atmospheric nitrogen into a useable form?

3. What converts dead organic matter into a useable form of nitrogen?
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What term refers to the release of water into the atmosphere by plants?

5. What stage of the water cycle carries pollution over land to lakes and oceans?

6. Complete the following sequence: lake, evaporation, _________, precipitation, runoff 


7. In what form does carbon leave plants? 

8. What property of carbon dioxide keeps the Earth warm?

9.  Consumers release carbon as __________ & _________.
10. Burning fewer fossil fuels reduces our _________.
Ecology Stations Answer Key

Station 1: Vocabulary Puzzle
Arrange the tiles so they form a 3x3 grid and the vocabulary terms match their definitions.

Teacher Initials: _________

Hint used:
YES

NO

Station 2: Food Webs
1. Corn, carrots, shrub, tree

2. Shrew, snake, frog

3. Frog & shrew

4. Trophic Level II

5. 4

6. mice

7. energy

8. grasshopper, frog OR rabbit, snake OR grasshopper, shrew OR mouse, snake

9. decomposers

Station 3: Symbiotic Relationships

Cuckoos: parasitism

Clownfish: mutualism

Army ants: commensalism
Remora sharks: commensalism
Mosquitoes: parasitism

Cow bacteria: mutualism
Station 4: Succession Timeline

Place the dominoes end to end so that they describe ecological succession.

1   5   7   2   6   3   4   8

Station 5: Population Ecology

1. day 12

2. it increased

3. P. caudatum

4. day 5
5. competitive exclusion
6. 1975
7. 33 pheasants/km2
8. 1975
9. 1982
Station 6: Nutrient Cycles

1. eating other organisms

2. bacteria

3. decomposers

4. transpiration

5. runoff

6. condensation

7. sugar

8. greenhouse effect

9. CH4 & CO2
10. carbon footprint









Station 4:





Succession Dominoes








